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(5) IS . 11 ¥ 15 dd Ucdeh UH 4 3 Pl &l (eg AT 120 Usg &)
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(7) 9% . 5 & 18 dd 3dRkeh [dweu G 1w B

Instructions:-
(1) All Questions are compulsory.
(2) Q. No. 1to 4 are objective types which carry total 20 marks.
(3) Q. No. 5to 7 each question carries 2 marks, word limit 30 words.
(4) Q. No. 8 to 10 each question carries 3 marks, word limit 75 words.
(5) Q. No. 11 to 15 each question carries 4 marks, word limit 120 words.
(6) Q. No. 16 to 18 each question carries 5 marks, word limit 150 words.
(7) Internal choice is given in question No. 5 to 18.

0.1 T Ahed &1 a9d Ry - (5x1=5)
(i) feorehr wFafedr d=ar 1= 0 &), a HITA IUPIR B9 —

(31) s @) p

") d @) f
(i) T Ydel RGN dcd i AT &2

(37) F @) O

&) N ) Cl

(iii) TP UhdA & Tgred gREufaai & g & fow -

(31) AT=0 @) Ap=0



#) g=0 (G) w=0

(iv) J®ISeC A C BT Pl HIOT DI AT BT &2
(31) sp @) sp?
@) sp’ (&) sp’d

(v) SUS Uoldhigel &l IUPACATH § —
(31) TAAd @) TAABH IHFe
CHIRPGIC] @) AAAter

Choose the correct option —
(1)  If Azimuthal quantum number | = 0, then corresponding subshell will be —

(a) s (b) p
(c) d (d)f
(i)  Which is the highest Electronegative element?
(@) F (b) O
(c) N (d) Cl
(iii) For the process to occur under adiabatic conditions, the correct condition is —
(a) AT=0 (b) Ap=0
(c) g=0 (d) w=0
(iv) The type of hybridization of carbon in Graphite is—
(@) sp (b) sp
() sp’ (d) sp’d
(v)  IUPAC name of Ethyl Alcohol is—
(a) Ethanal (b) Ethanoic Acid
(c) Ethanol (d) Methanol
7.2 R TyEr & gfd Hifae @@ faweu A - (5x1=5)
(i) Tl T AR GIATA .......... €1 (18.02 IS FArel 1/ 13.02 ITH AT )

(i) orEY 3 & T JrHEAT A Ul I3 Hr aredfdd & oar gl
(6.023x10%% / 1.99x10 )

(iii) BFs............. Tl (J3H 3Fd / 58 &N)
(iv) Tefrelled &1 YFEHIOT ... HdT q fhar Sirar &1 (H1T 3mHa /gl 3mHae)

(v) ATA® BTS3Id Soldels f[aHT ... (0.00V / 0.02V)




9.3

.4

Fill in the blanks by choosing right option —

(i) Molar mass of water is............... (18.02 gm. mol/13.02 gm. mol ™)

(i) Actual No. of molecules present in one gm. mole of a gas is.......... (6.023x10%%/1.99x10 %)

(iii) BFs is ......... (Lewis Acid /Lewis Base) http://www.mpboardonline.com

(iv) Aniline is purified by ............... distillation method. (Steam distillation/Fractional distillation)

(v) Standard electrode potential of hydrogen electrode is (0.00 Volts / 0.02 Volts)

T S FASY - (5x1=5)
(3 (@)

(i) - 273°C (3N 7

(i) /[€ Sfel &l pH () CaS0,. % H,0

(iii) TorEEX 31 oA @) K

(iv) &R 41 (@) CeHsNO;

(v) ATSEISSH (3) Mg

() WAYT da

Match the columns —

(A) (B)
(i) -273°C (@7
(i) pH of pure water (b) CaSQg. ¥2 H,O
(iii) Plaster of Paris (oK
(iv) Alkali metal (d) C¢HsNO,
(v) Nitrobenzene (e) Mg

(f) Absolute Temperature

T Qqeg / AT H 3R Ao — (5x1=5)
(i) FArerar fr8 wed &
(i) Tegidy foRdy e &2

(iii) PRIASIFATSS BT Hifcded AT T BT &2
(iv) BOD &1 @1 a1d foif@d|

(v) CH;COOH &1 E3==T ¥ fafed|

Answer in one word / sentence —

(1) What is Molarity?

(ii) What is Entropy?

(iii) What is the value of critical temperature of CO;?

(iv) Write the full form of BOD.
(v) Write the structural formula of CH;COOH.
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&R 31quia &1 fags e )
Write the Law of Definite Proportions.
31ar/0R
farafaf@a & @ a@rde 3@t & Fear gae -
(i) 126.000 (ii) 208 (iii) 0.0025 (iv) 5005

How many significant figures are present in the following —

(i) 126.000 (ii) 208 (iii) 0.0025 (iv) 5005

TISSISTA & & FATATADT & A T Hehd iy | )
Write names and symbols of any two isotopes of Hydrogen.

31Idar/0R

STl P TURT HORAT dT HRUT A3 |
Explain the reason of permanent hardness of water.
3Nl W Pl &TF B dTel &l Ul & ATHA Ty | )
Name two pollutants which deplete ozone layer.
3dr/0R
eRd WA 5 ded 22
What is Green chemistry?
HEY HIET B GRATT HL| O, 370] PN ITY B BT TRBeld DITAT| ?3)
Define Bond order. Calculate the bond order of O, molecule.
3dr/0R
H,O & sp® T&OT Pl TASSY|
Explain sp® Hybridization in H,O.
740 .30, g W fRdr 3 @ 3maaa 200 TR §13fE a0 o R 39, o R g
W 3 &1 I gIAT & SRI? ?3)

The volume of gas at 740 mm pressure is 200 ml. If temperature is constant, then at what pressure
the volume will be doubled? http://www.mpboardonline.com

3ar/0R

ITACT fopd e £2 350 WX AT ol AT YHT USAT &2

What is Viscosity? What is the effect of temperature on it?

A & ar - a1 sy ey - 3)
(i) TR ETEgiFaTSs

(i) T AT uRE
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9.14

(iii) HfeRrIA FHriaT

Write 2 - 2 uses of the following—
(i) Calcium Hydroxide

(ii) Plaster of Paris

(iii) Calcium Carbonate

3dr/0R
&R Urg AR &R FeT arg3it P deferr et figsi W Ry -
(i) N, o ary femam
(i) PrEfde W STAT H A
(i) Gethel dT Stel H TaerTar
Compare the Alkali metals and Alkaline Earth metals on the following points —

(1) Reaction with N,
(i1) Heat effect on carbonate

(i1i) Solubility of sulphates in water
®eT 3R FeTh FA P IR IR @y
Write four differences between orbits and orbitals.

3Udr/0R
3.6 A LT dTel Th WIEId & geIATA DI IUTAT hifaTy|

Calculate the mass of a photon with wavelength 3.6 A

AT Sl § FIT THASTT &2 3P JHTfIT el dTel PRp JHASTSY |

What do you mean by lonization Energy? Explain the factors affecting it.
3dr/0OR

AvsAE Hr Inadarel Hr suAfar i@

Write the utility of Mendeleev's Periodic table.

StANITADT & JIH FGua ol va o Tafiua fife|

Write first law of thermodynamics and establish its expression.
3dr/0OR

ShAUIT T 3JhAUIT TehdA #H IR IdSd |

Differentiate between Reversible and Irreversible process.

(i) TS AR 3T TT &R I GRATT Y TT 3T SIfard |

(i) IR fIerga ol aRATNT o Td ¢ 3 e

(i) Define Bronsted - Lowry acids and bases and gives examples.

(i1) Define Buffer solutions and write its two applications

(4)

(4)

(4)

@)
@)
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372a1/0R
(i) pH Ehel &l aRATRG Y T ar rguater faf@u|

(i) 0T U1 & oA H TSI 3T I Alegdl 3.8x10°M g1 SHBI pH FT 92 (log
3.8 =0.58)
(i) Define pH scale and write its two applications.

(ii) Hydrogen ion concentration of a sample of soft drink is 3.8x10>M. What will be its pH? (log
3.8 = 0.58) http://www.mpboardonline.com

RO uHa R Ted £2 5% UBRT P 3EEI0T gRT FHSE | (4)

What is Inductive Effect? Explain its types with examples.
34ar/0R
e AT & TTeT T AT
(i) 2-91Ua (DACRGIEEEEX]
(iii) 2-egertet (iv) 2, 2- SRS WU
Write structural formula of following compounds—
(i) 2-Propanone (ii) Methanoic acid
(ii1) 2-Butanol (iv) 2, 2-dimethyl propane
(i) ATAD Selacls AHT & AT Ay 2 (2%)
(i) faga varfas Aol 5 Fea §2 3ad! & fAaAuare garsv| (2%2)

(i) What do you mean by Standard Electrode Potential?

(ii) What is Electro Chemical Series? Write two characteristics of it.
JAYAr/OR
(i) Aeafaf@aa & sfriietor gear g R -
(37) KMnO, & Mn &r
(d) HyP0; H FT
(F) HyS,0; & ST
(ii) Selareled TATATGRUT & HTYR W SEIE0T Aied JFTFAIUT Td ITTIA bl AT |
Determine the oxidation number of the following —
(@) Mn in KMnOg4
(b) Pin H4P,0;

(C) Sin H,S,0-
(i) Define Oxidation and Reduction with example on the basis of Electron Transfer.

gféyg feoooh oy - (5)
(37) IRFT (F) [H3ATemse




9.18

Write short notes on —
(a) Borax (b) Zeolite

3ar/0R
AT HASSY —
(i) SR (i) Yol
Explain structure —
(i) Diborane (ii) Fullerene
HArpifAeTd &1 [ATeT o1 2 Uidid W HBr & INT & AT | (5)
What is Markovnikov's rule? Explain Addition of HBr on propene.
34dar/0R

FIT T & F9-(hae TEAAS JifAfRar fof@w)

(i) fRUTSa shaAtss qwh SR & 3ufRufa & Aifsasd @ fhar & &
(ii) hTorrIe FETEs A T & T fopaT|

(iii) AT BHA & AT [ZIH vHICT Pl 7H HA &l

(iv) TaIfeela @1 3ugaa Afhe/cafeaad & sueafa # & ||
(v) ST &7 Cl, & 3AFT F @t AICL, & 3uieafa & frar)

What happens when- (Write only chemical equations)

(i) Methyl Bromide reacts with sodium in presence of dry ether.

(i) Reaction of calcium carbide with water.

(iii) Soda lime is heated with sodium Acetate.

(iv) Reduction of acetylene in presence of Nickel / Platinum.

(v) Benzene reacts with excess of Cl, in presence of anhydrous AICls.
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